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PART A: Grammar and Vocabulary 09 Ao B 10 Axiuo
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct
choice on your answer sheet.

61- The driver of the car ... has now been released.
1) who the police were questioning 2) whom the police were questioning him
3) that the police were questioning it 4) which the police were questioning

62- The doctor told them that there was little they could do about his lung cancer, ...?
1) wasn’t there 2) couldn’t they 3) didn’t he 4) was it

63- A: Oh! Dad, I found a job. I had an interview, and I’m to start it next Monday.

B: That’s very good. Well! How much...?
1) will you be paid 2) they will pay 3) you will be paid 4) they pay you

64- We are most ... to the patients who generously answered our questions during hospital visits.

1) cheerful 2) peaceful 3) meaningful 4) grateful

65- Nowadays, the young have their own special thoughts and behave in a way that is completely ...
to their parents. I think it is because of the gap between the two generations.

1) unchangeable 2) unsystematical 3) communicative 4) incomprehensible

66- The suggestion that you put forward at the meeting ... serious consideration.
1) deserves 2) boosts 3) compounds 4) replaces

67- Science and technology enable human beings to control natural forces more ... .

1) ordinarily 2) calmly 3) effectively 4) willingly

68- I can’t ... my math teacher because he is completely unpredictable. Although he looks very
friendly, he gets angry for no good reason.

1) figure out 2) look up 3) wake up 4) jump into

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice

on your answer sheet.

Have you ever wondered what is the difference between first language and mother tongue? In one
sense, we all have a mother tongue as we all have only one (biological) mother.

Mother tongue is ...(69)... the language a person learns first. Often a child learns the basics of his
or her first language or languages from their family. One can be ...(70)... and have two native
languages. Lacking first language skills often makes learning other languages difficult. The order in

...(71)... these languages ...(72)... is not necessarily the order of proficiency.

69- 1) fluently 2) accidentally 3) generally 4) unfortunately
70- 1) bilingual 2) monolingual 3) compound 4) countless
71- 1) that 2) where 3) when 4) which

72- 1) learn 2) are learned 3) they learn 4) to learn
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PART B: Reading Comprehension
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on your answer sheet.

PASSAGE 1

The meaning of health has changed over time. For much of recent history, health has been defined as
being physically well. According to this view, creating health for people means providing medical
care to prevent diseases. In 1946, the World Health Organization challenged this view of health and
suggested that health is a complete state of physical and mental wellness. In fact, in this new
definition, health included human mind in addition to human body. The 1970s was a time of
emphasizing the prevention of diseases by explaining the importance of lifestyle. Creating health,
then, meant providing not only medical health care but developing programs and policies which
would help people have a healthy lifestyle. Poor people who did not have much control over the
conditions of their daily lives, however, gained little from these policies. This was because they did
not pay any attention to the social conditions influencing the health of people. Therefore, during the
1980s and 1990s, while lifestyle factors were still important, health was being viewed also in terms of
the social contexts in which people lived. The creation of health, in this view, was much more than
having a healthy lifestyle and included attention to wider social factors such as receiving education
and finding a good job. The general goal of health in the social view was giving people the ability to

improve their own health.

73- What is the best title for the passage?
1) The Social View of Health
2) Changes in the Meaning of Health
3) World Health Organization’s Definition of Health
4) The Physical, Mental, and Social Factors of Health

74- The pronoun “they” in the passage refers to ... .
1) conditions 2) poor people

3) policies 4) factors

75- The passage discusses ... different views of health.
1) three 2) five
3) six 4) four

76- Which of the following is Not true, according to the passage?
1) For a long time, the definition of health included human body only.
2) Health improvement policies during the 1970s were useful for everyone.
3) The importance of lifestyle in creating health has been identified since the 1970s.

4) Recently, it is believed that a good job and education help people take care of their health.
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PASSAGE 2

Economic circumstances also affect life expectancy, which is, in the statistical sense, the number of
years that a person can excpect to live. It is the most common measure to describe population health.
Life expectancy in the wealthiest countries is longer than in the poorest areas. With a life expectancy
of 85 years, Hong Kong leads the ranking of the 20 countries with the highest life expectancy as of
2018. The country with the lowest life expectancy in 2018 is the Central African Republic. People
from the Central African Republic born in 2018 can expect to live 53 years on average.

The gender differences in life expectancy are significant. Women tend to live several years longer
than men. The average life expectancy worldwide of those born in 2020 suggests that women had an
average life expectancy of 75 years at birth, while men were expected to live 70 years. According to a
statistic by the World Health Organization (WHO), in 2013, a child born in a high-income household
had an average life expectancy of 79 years at birth, whereas a child born in a low-income household
was expected to live 62 years at birth. Therefore, the average life expectancy worldwide also depends

on the income of the household people live in.

77- What does the paragraph before this passage most probably discuss?
1) Definition of life expectancy
2) Social changes influencing people’s income
3) People’s economic conditions in different countries
4) A factor or factors influencing life expectancy

78- The word “significant” in paragraph 2 is closest in meaning to ..... .
1) considerable
2) essential
3) unimportant
4) countless

79- Why has the author referred to a statistic by WHO in paragraph 2?
1) To provide an example for an earlier statement
2) To define a new term associated with people’s life expectancy
3) To introduce another factor influencing life expectancy
4) To prove his earlier claims about factors influencing life expectancy

80- Which of the following has NOT been mentioned in the passage as a factor influencing life
expectancy?
1) Economic conditions of the country in which one lives
2) Health condition of the country in which one lives
3) Income of the family in which one is born and raised
4) One’s gender
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